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o PTG F I 13 57 F97-95 4 JIad 7% 16,791 497 15 &l

Please make sure that the printed pages in this
question paper are 16 in number -and it contains
15 questions.

o 797-UF H gife+ &9 & &K [3F T i 75X 791 @€ & 517
F-Gital & JEI-9% Y [0E ]

The Code No. and Set on the right side of the
question paper should be written by the candidate
on the front page of the answer-book.

* FUIT 97 B T [TGT & B G T8cd, F97 H HHI% G797
ferg|
Before beginning to answer a question, its Serial
Number must be written.
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o IT-gfaar & &= 7 @il gw1/q+ 7 8Ig
Don’t leave blank page/ pages in your answer-book.

o FW-YRaF & ofaked @ o S & Al o
STHTEATIAR & ferd oI forar I 7 e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.
o Tl 19T T Fo FIT-TF T 3G9 [/

Candidates must write their Roll Number on the
question paper.

o FYFHGHI FT T a7 @ Y4 I8 GrAload & o I q97- g0
7 T8 8 gier & SuvrT 5 Rl § #iE oi-qrar @Ew
7@l (4T AT
Before answering .the questions, ensure that_ you
have been 'supplied the correct and complete

question paper, no claim in this regard, will be
entertained after examination.

A (i) @H GIT & FXA Bl A% F97 & 3 G T
gIg 77 &1

(i) F9T Q@I 1 & 6 % qgdlcqs 997 8| ITH T
AET I GAH 391 FR-Gikaaarn 4 foram &l

(iii) 97 T 13, 14 T 15 7 3T<iRe g€ I &l
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Note : (i) All questions are to be attempted.
Marks of each question are indicated
against it.

(i) Question Nos. 1 to 6 are multiple choice
questions. Candidates are required to
select one appropriate answer and write
the same in their answer-book.

(iii) Internal choice is available in Question
Nos. 13, 14 and 15.

1. -2 @A § 980 -2 [ A1 & S 1
(37)... 3T SATHTT TPl b &Il &

) HE QeI T & Bld &

(/) 31 IS @ SR i & B 8

(3) S H { BIE TR

€

Income < and < Expenditure account records
transactions of :

(a) Revenue nature only
(b) Capital nature only
(c) Both capital and revenue nature

(d) None of the above
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e : [FF7 AT & SR 9% §97 G&T 2 T 3 & e I
gy
&, T 0T & TH F¥ § GEER 8| WERR 649 & AI4R,
& T B Y& AT B 4% SHIIH I & Hl ATUHR &

ST HHAT T & 918 AT BH T FHE ge T g8
& A 37,800 ¥ oI

From the following particulars, select the correct
answers of Question Nos. 2 and 3 :

A, B and C are partners in a firm. According to
deed, A and B are entitled to get a commission of
4% (each) on net profit after charging such
commissions. Net profit of the firm was ¥ 37,800
before adjustment of commission.

2. ' U7 T HHIYE BN N HHL: B ¢ 1
(31) 1512; 1512
(@) 1512; 1400
(@) 1400; 1400
() oude § e
The amount of commission of 'A" and 'B' will be :
(@ 1512; 1512
(b) 1512; 1400
(c) 1400; 1400
(d) None of the above
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3. O, T AW AT b € H YT B 1
(31) 9% 2 12,600 (@) IUHT 11,666.66
(®) 9@® 2 11,000 (3) SUgHH & P T
‘A’, ‘B’ and ‘C’ will get as a profit :
(@ 12,600 each (b) % 11,666.66 each
(¢ % 11,000 each (d) None of the above

4. wfd® g @1 ATH B FH died 8T TH BH H FEER B
I T T 99 &I HAM: 1/59 1/6 @4 § B &
{70, QIEIER ST | ST AT AH=ET ST BT 1
(&) 19:19:12:10 (@) 8:7:5:6
@) 19:12:19:10 (%) SudH H ¥ &5 T
Malik and Gupta are partners in a.firm sharing
profits & losses equally. They admit Singh and
Bansal as new partners for “1/5th and 1/6th
shares in profits respectively. The new profit
sharing ratio will be:

(@ 19:19+12:10 (b) 8:7:5:6
() 19:12:19+10 (d)  None of the above

a?e:?ggfﬁaw%anwwgwa@rs 76 % q& I
‘TE YT ATS’ | YT B & qHIT 1 Wurg fordn| 9k
e &

WMER 90,000 %, d% XM 40,000 T; Gur
TET 30,000 ¥; U9 918 35,000 3; B & it 9
99 8T 1,75,000 |
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From the following particulars, select the correct
answers of Question Nos. 5 and 6 :

X' and 'Y' have decided to dissolve their firm.
The liabilities were :

Creditors T 90,000; Bank Loan ¥ 40,000 and
Capitals : X ¥ 30,000 and Y X 35,000. The assets
were realized of ¥ 1,75,000.

5. BH & gl & J&H oF 41 : 1
(31) %1,75,000 (@ z1,95,000
(®) 2 2,15,000 (3) ~Sudh § & P15 T
The book value of the firm's assets was :
(a) X 1,75,000 (b) " %'1,95,000
(c) *2,15,000 (d) ~ None of the above

6. TUD FEER & oW, a9l T &1 Arq/Ei e 1
(31) % 10,000 w4 (®) % 10,000 &1
(&) 15,000 @4 (8) wudh d q &g T

The share in profit/loss on realization account of
each partner will be :

(@) T 10,000 profit (b) ¥ 10,000 loss
(c) ¥ 15,000 profit (d) None of the above
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7. SATHGR! 8T & ST~q9 @t # ‘I’ & T T ol {59
YR fHar JraT & 7 Tw | 4

How is subscription calculated & treated in
Income & expenditure account and Balance
Sheet of a not-for-profit organization ?

8. WU 9 [T o1 T &I &l A9 2 @ 1 U § o
gl 01 T 2006 &I AT FH F ThST & 1710 (T8
W) @I AFIGR a910 & 8fR 98 &7 § &7 25,000 T A5
o TR &4 8| 72w T faaer ot wrfiery gdad & w@d
g O TR & TR & @I H FHT o T I HAM:
3:2 & AU H T84 HUI| 31 [KH=R, 2006 & BH &l
A9 1,20,000-3 971 39% forg a9 &1+ i @
TR ST 4

Mahesh and Dinesh are partners sharing profits
and losses in the ratio of 2: 1. On-01 Jan. 2006
they agreed to admit Rakesh for 1/10t share in
profit as a partner with a minimum guarantee of
¥ 25,000 profit per year. Any deficiency arising
out on that account shall be met by Mahesh and
Dinesh in the ratio of 3 : 2. The profits for the
year ended on 3lst December, 2006 was
3 1,20,000. Prepare Profit and Loss
Appropriation A/c.

9. ‘GERRI gueiar foad § 21 Inful’ 39 & & e
o] 4

‘Partnership agreement must be in writing.’
Discuss the statement.
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10. U% 90 GEER & 997 W S & @l (69 J6R &
T & ? ol aifeg| 4

Explain the accounting treatment of goodwill at
the time of admission of new partner in a firm.

11. Gch Sigd ST Ol W U U Siftmm @ dEie
FIER HY [HAT AT &, T T ST Gl HHT 1T € 7 4

What is accounting treatment of Premium. on
Joint Life Policy when it is treated as revenue
expenditure ?

12. B & O W, T FEREAT (THT B BER) T ST
TRl T agel @ § SR & & qre, e oA
! JoTHET grafeel Far et ? 4
(i) *¥22,500 % S RUT BT Feb& YA, (AT
(i) HTEER @I 7 % 24,000 G &l @4 T 15,000 H

o]
(iii) U CIEWER, ol J&ie 9T & 9T, $I % 5000
T &=
(iv) % ISOOWWWWH@NW%?\PGH
el
What journal entries would be passed for the
following transactions on the dissolution of a
firm, after various assets (other than cash) and
third parties liabilities have been transferred to
Realization Account ?

(i) Bank loan ¥ 22,500 has been paid.

(i) Stock worth ¥ 24,000 is taken over by
partner Lalu for ¥ 15,000.
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(iii)

(iv)

13. (a) d¥ 2006 F IR YT T=&T 39 UPK & :
4 4
2005 3,000
2006 96,000
2007 2,000 1,01,000
4
31 fAE=R, 2005 @AWW FT= H AR 5,000
31 fEHw=; 2006 &I AU T & A 12,000
2005.% 2006 & (AT AW U1 < S AR/ 5,000
2006 %-AI-FF @A | fe@rg ST il aw @i e
I VT BT 5
Actual amount of subscription received
during the year 2006 was as follows :
4 4
2005 3,000
2006 96,000
2007 2,000 1,01,000
2908/ (Set : A) P.T.O.
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A typewriter completely written off in the
books of accounts was sold for ¥ 5000.

Expenses on dissolution amount to ¥ 1800,
were paid by partner Kalu.
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Subscription outstanding on

¢

31st Dec. 2005 5,000

Subscription outstanding on

31st Dec. 2006 12,000

Advance Subscription received in

2005 for 2006 5,000

Calculate the amount of subscription which
will be shown in Income & Expenditure

A/C.
(b) = gErel §.2005-06 & ERT ITAT & T
TATE &I AT @ TT ﬁﬁﬂ'{ - 5
faawor UL
TATE & T4 & [T g 3,70,000
ZaTs Y & [oTT e
01-04-2005 &I 25,000
31-03-2006 HI 17,000
T8 B ©ih
01-04-2005 &I 62,000
31-03-2006 &I 54,000
01-04-2005 &I 11,500
31-03-2006 & 18,200
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From the following information, calculate

the cost of medicines consumed during the
year 2005-06 :

Particular Amount ¢
Payment made for purchase of

medicines 3,70,000

Creditors for medicines :

On 01-04-2005 25,000

On 31-03-2006 17,000
Stock of medicines :

On 01-04-2005 62,000

On 31-03-2006 54,000
Advance paid to supplier  of
medicines :

On 01-04-2005 11,500

On 31-03-2006 18,200

YT
OR

Y- WA FIST A @ b qHend gy, & §

IR € FHifT|

10

Define and distinguish between Income and
Expenditure Account and Receipt and Payment

Account.
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14, = gO9-09 A SR T & &, A 3 : 2 H AIIA § A9

frsmfora & &

U] i & | gRawrar i &
SEEARS 20,000 | B&ITA {8 3,000
gl EREL 12,000

& - 30,000 Wi 15,000
¥ - 20,000 | 50,000 | BHEX 10,000
T8 g wefi=lr | 30,000

70,000 70,000

29 [atr &, w1 9l W &) qEier) # gagr feay a4

()  E-AH H1/6 HN & MU 15,000 % B ST SR
5,000 % @t & forw Giftgw & &g # |

(ii)  EH B IA 10% GHT BCALE 61 G417 AR
B AT 10% § TG | Briteat F I 9,000
STehT T

(iii) fafee ISR W 5% wfever ol & forq graem F=7=1
212 1,000 &1 fafwarT o geaet & €1 feaman o
2, B AT I § @ 2

HH & J&IDH § YT & [T Saedd o giafeat
HIY T JaOT-91 A7 qA757| 10
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The following is the Balance Sheet of A and B
who’s share profit and losses in the ratio of 3 : 2 :

Liabilities | Amount Assets Amount
i 4
Creditors 20,000 | Cash in Hand 3,000
Capital : Debtors 12,000
A - 30,000 Stock 15,000
B - 20,000 | 50,000 | Furniture 10,000
Plant &
Machinery | 30,000
70,000 70,000

On this date, C is admitted as a partner on the
following conditions :

(i) € will bring ¥ 15,000 for capital and ¥ 5,000
for premium for goodwill in-cash for 1/6th
share in profits.

(ii) Value of stock is. decreased by 10% and
value of machinery is increased by 10%.
Furniture was valued at ¥ 9,000.

(iii) Provide a provision for doubtful debts @ 5%
on debtors. There is an investment of
% 1,000 which was not recorded in balance
sheet, now it will be shown in the firm's
balance sheet.

Pass the necessary journal entries for the above
in the books of the firm and prepare Balance
Sheet of firm.
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YT

OR
e § ST F4 WA & 7 W b qedich ol fafe
ATt &7 ISTEXT & TETHAT § U g | 10

What do you mean by goodwill ? Explain various
methods of valuation of goodwill with the help of
suitable examples.

15. Hifed, RS T Ged & gad-0 A f&ar @ & S are-

BT B ST GOt ST far o AR &

e | afer & | aRawfaar afr &
e 21,000 | 54+ 1,00,000
ED] 20,000 | A=A 50,000
gl - S 18,000

qiled | 80,000 | IR . 20,000

AR | /40,000 | HEHEI-S SR
dleT | 40,000 | SIFEES 1,000 | 19,000

d% F s 14,000
2,01,000 2,01,000
=9 faf¥r & TR Qariga & 747 q91 B § 6 Rw &
A = & SrEr e S

() 9T & oA % 1,20,000 {1 T q91 AM @B
T 20% & & fdar |
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(i) ®H @ TG B GAiBT 72,000 I fHAT W
Qarfgd WEER & e § RE, a9 9EEn
PEikelnR-RUEIRIERRERIE A

JTcd R AT, WEERT & ol T o7 I & ganagi
& 918 go - ST 10

The Balance Sheet of Mohit, Neeraj and Sohan
are given as follows who shares profit and losses
of the firm in the ratio of their capitals :

Liabilities | Amount Assets Amount
4 4
Creditors 21,000 | Building 1,00,000
Reserve 20,000 | Machinery 50,000
Capital : Stock 18,000

Mohit 80,000 | Debtors 20,000

Neeraj 40,000 | Less : Provision
Sohan 40,000 | for doubtful

debts 1,000 19,000
Cash at Bank 14,000
2,01,000 2,01,000

On that date Neeraj retires and his share in the
firm was paid as under :

(i) Building was revalued at ¥ 1,20,000 and
value of machinery was decreased by 20%.
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(ii) The valuation of firm's goodwill was
372,000 and retiring partners share in
goodwill be adjusted in remaining partners'
capital accounts.

Prepare Revaluation A/c, Capital accounts and
Balance Sheet after Neeraj retirement.

AT
OR

=T @ e S

Explain the following :

(i) TS Gl 5

Revaluation Account

(i) RO GHeHichT STl 5

Memorandom Revaluation Account

2908/ (Set : A)

Previous Pathshala






